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50, will be treated as malpractice.

aining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the rem
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Note: Answer any FIVE full questions

a. Describe a 3 - tier data Wareheusmg architecture. (06 Marks)
b. Compare OLTP and OLAP Sysfems (06 Marks)
c. What is a Data warehouse an¢ “what are its four key fe ©s? (04 Marks)
; OR
a. Explain with su1 it xamples the various OLAP opelatlons in a multidimensional data
model : ; (07 Marks)
b. 7,) Snowflake schema i) Fact constellation
schema . (09 Marks)
a. (06 Marks)
b.
(06 Marks)
C.
X = (04 Marks)
Describe the Va,riou, types of attrlbutes' and data sets. (08 Marks)

eps involved in ity Explam any 2 steps in detail,

(08 Marks)
(05 Marks)
. (06 Marks)
(05 Marks)
300
{1,2,3,5} | {2,5}
ii) Generate the list of frequent itemset. . (09 Marks)
Ordered by their correspond ing suffixes.
TID 1, 7 3 4 5 6 7
Items | {a,b}:[{b,c,d} | {a,c,d,e} [ {a, d e} | {a,b,c} |{ab,cd}|{a}

# {a,b,c} | {a,b,d} | {b,c, e}

b. Brlefly e“Xplam the candidate generation procedure using Fi.; X Fx.; Merging strategy.
(07 Marks)
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Module-4

Explam how decmon tree induction algorlthm

20f2
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(08 Marks)

(08 Marks)

(09 Marks)
(07 Marks)

(08 Marks)

(08 Marks)

(08 Marks)
(08 Marks)



